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Renewable Energy
PART A: Grammar and Vocabulary ¥ s
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct YA dxivo G Y\ dxivo
choice on your answer sheet. ¥ eSSt 36
. A Healthy Lifestyl
61-You may probably know that my elder brother ... a good job for two years when he o F
lived abroad. Y4 dcxivo 5 DA dxivo
1) had to look for 2) has looked for
3) had to look after 4) has looked after

62-Ever since a collection of paintings by David Hockney went on exhibition, there ... a number of
visitors at the Museum of Art every day.
1)is 2) has been
3) have been 4) are being

63- What I hate most ... walk in wet shoes on rainy days, so I have acquired some bright blue plastic shoes
with the look of tennis shoes to wear on rainy or snowy days.
1) have to 2) is having to
3) who have to 4) having to

64-1 suppose we have to hold the conference online because it is ... to organize in-person meetings during
the COVID-19 pandemic.
1) forbidden 2) confusing
3) common 4) necessary

65-Some parents believe that they should do whatever they can to help their children become more ...
active in their lives.
1) especially 2) naturally
3) physically 4) carefully

66-Because of the large distance to the crowded cities, the village is considered to be one of the least ...
areas in the country.
1) social 2) polluted
3) gradual 4) ancient

67- According to recent studies, women usually have better mental health than men because they don’t
hold their ... in and cry whenever they want to.
1) emotion 2) demand 3) experience 4) attention

68- These solar panels ... enough electricity to supply a home with all its energy requirements.
1) prevent 2) generate 3) consume 4) influence

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your
answer sheet.

Sustainable energy sources are often regarded as including all clean and ...(69)... sources such as sunlight,
wind, and water. Fossil fuels are not considered sustainable energy sources because human consumption of
fossil fuels causes a decrease in this type of fuel. Solar energy is a powerful source of sustainable energy
coming from the sun. Up to now and for almost billions of years, the sun ...(70)... energy. It is estimated that
the sunlight that shines on the earth for one hour is capable of ...(71)... the energy demands of the whole
world for an entire year. Solar energy can be ...(72)... into other forms of energy, most commonly heat and

electricity.

69- 1) harmful 2) renewable 3) kinetic 4) effective
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70- 1) never stopped producing 2) never stopped to produce
3) has never stopped to produce 4) has never stopped producing
71- 1) meet 2) meeting 3) to meet 4) met
72- 1) converted 2) absorbed 3) replaced 4) cured

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your

answer sheet.

PASSEGE 1:

Trains have always been an exciting way to travel, whether it involved Great Britain’s elegant and speedy
Mallard steam locomotive of the late 1930s vintage or more modern rail systems such as Japan’s Shinkansen
or France’s high-speed trains called TGV. As some parts of the world such as the UK and Germany finally
experience some relief in their fight against Covid-19 through widespread vaccination, people are starting to
dream about traveling again. For those who miss traveling by train and are willing to plan for some
spectacular post-pandemic experiences, now is certainly a good time to plan a journey on some of the longest
train routes on the planet.

An interesting feature published by The Telegraph took a look at the longest direct rail routes that do not
involve changing train. The Trans—Siberian Railway which connects Moscow with the Russian Far East is
still the world’s longest direct rail route, running for 9,259 kilometers or 5,753 miles. The journey passes
through the Ural Mountains, Siberia’s birch forests and Lake Baikal, taking six days according to The
Telegraph. The second-longest route without changing can be found in Canada with the journey from
Toronto to Vancouver covering 4,466 kilometers or 2,775 miles. Third place goes to China where the stretch

between Shanghai and Lhasa covers 4,373 kilometers or 2,717 miles.

73- What is the best title for the passage?
1) The World’s Longest Train Routes
2) The History of Trains
3) The Trans-Siberian Railway
4) COVID-19: An Obstacle To Tourism Development

74- Why has the author mentioned some railway systems and trains such as Mallard and Shinkansen in
the first paragraph?
1) To compare the new generation of trains with the older one
2) To put emphasis on the importance of the development of railway systems
3) To say that modern railway systems are much better than older ones
4) To support an earlier statement about the popularity of trains throughout history

75-The word “spectacular” in paragraph 1 is closest in meaning to ... .
1) amazing 2) valuable
3) painful 4) personal

76- According to the passage, which of the following is TRUE about the world’s longest railways?
1) Canada is the country in which the longest direct rail route in the world is located.
2) The world’s longest rail route needs at least a train change.
3) The longest rail route in the world passes through different natural environments.
4) It will take 6 days if you travel from Shanghai to Lhasa by train.
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PASSEGE 2:

Have you ever been swimming in a pond, stream, or lake and had a leech stick on you? You probably pry it
off as fast as you could. But leeches aren’t really disgusting, and sometimes they can save lives!

In ancient Egypt and later in medieval Europe, doctors put leeches on patients. They believed that the
spineless wormlike creatures could cure all sorts of illnesses by sucking a patient’s blood. In Europe and in
the United States, millions of leeches were used throughout the 1800s. Doctors applied leeches to treat a
variety of illnesses, from obesity to headaches. People soon learned that leeches could not cure most diseases
and were not a good treatment for patients. However, in 1985, a Harvard University doctor changed
people’s thinking once again. He was trying to reattach a patient’s ear, which had been cut off. He had
trouble reconnecting the veins because the patient’s blood kept clotting. He applied a leech to draw out the
blood and saved the ear.

Since then, leeches have often been used in surgery where body parts are reattached. During surgery, a
leech is placed on the area where the surgeon does not want blood to pool and clot. Then the leech produces
a liquid substance that keeps the veins open and prevents the blood from clotting. The leech sucks up excess

blood, allowing fresh blood to flow, which helps the patient heal.

77- What does the passage mainly discuss?
1) A wrong belief about leeches 2) How leeches cure most illnesses

3) The medical uses of leeches 4) Leeches in ancient medicine

78- According to the passage, why did a doctor in 1985 decide to try using leeches?
1) He needed a way to close the wound.
2) He needed to stop the blood from clotting.
3) He believed in using natural remedy to cure the diseases.

4) He thought using leeches would be more useful than doing a surgery.

79- Which of the following best describes the way the information in paragraph 3 is presented?
1) A problem is mentioned and several ways to deal with it are suggested.
2) A general point is made and then the related process is described in steps.
3) A new topic is introduced and the ideas for and against it are stated.

4) A new technique in surgery is introduced and its benefit is mentioned.

80- According to the passage, when a leech is placed on a patient, which of the following happens first?
1) The patient’s blood vessels open.
2) The leech moves inside the person’s body.
3) The patient’s blood flows faster.

4) The leech generates a substance.
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Part A: Grammar

Directions: Questions 81-90 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

81-If we ... the reminder, we might have seen the event. That comet can be seen once in every century.
1) set 2) would set 3) had set 4) have set

82-Wouldn’t it raise any issues if they ... you copied some lines from mine?
1) would have known 2) had known 3) were known 4) knew

83-1 have applied for many different jobs but no luck yet. I wish I ... my job last year.
1) not quit 2) didn’t quit 3) hadn’t quit 4) wouldn’t quit

84-1 haven’t eaten anything for 12 hours and I’m starving. If only my grandmother ... here to make

me some delicious cookies.

1)is 2) will be 3) were 4) has been
85-In my opinion, we may have serious problems later ... the necessary measures right now.
1) unless we take 2) if we take 3) if we took 4) unless we took
86-Physicians and health experts believe that consumers ... more likely to buy healthy food if it cost
less.
1) would be 2) would being 3) will be 4) will being

87-You can become fatigued easily and may not be able to complete your workout effectively if your
muscles ... have enough stored glycogen.
1) didn’t 2) won’t 3) wouldn’t 4) don’t
88-Supposing I ... you that you have to run the entire organization next year with only one thousand
dollars, what would you do?
1) tell 2) was to tell 3) were to tell 4) am to tell
89-Our transport systems and habits are too dependent on oil. ... the present trends are corrected, the
economic costs of traffic congestion will increase by about 50% by 2050.

) If 2) Unless 3) Otherwise 4) Supposing
90-1I lived alone in my twenties for a total of about one year, and now that I’m married, I wish it ...
longer.
1) had been 2) would have been 3) would be 4)is

Part B: Vocabulary

Directions: Questions 91-105 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

91-According to a new business report, it seems reasonable that global competition will be the ...
feature of the new millennium.
1) cooperative 2) distinguishing 3) meaningless 4) convertible
92-1 wasn’t supposed to say anything about witnessing the crime, but I was just... inside with
wanting to tell somebody about it.
1) dreading 2) absorbing 3) confirming 4) bursting
93-The World Bank has noted that nothing will unlock Africa’s economic potential more than
ending the ... of corruption.
1) cancer 2) diary 3) flock 4) miracle
94-The party has made door-to-door campaigning a major part of its strategy, while also wooing
voters with ... slogans and negative attacks on its opponents.

1) digestive 2) advanced 3) catchy 4) complicated
95-All that paper Norah spent hours wrapping around the presents would be ... to shreds in a matter
of seconds.
1) stuck 2) torn 3) blown 4) spoiled
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96-Due to his ... adherence to the rules, the manager wasn’t liked by the staff and was forced to
resign.
1) decorative 2) sparse 3) strict 4) identical
97-Strange as it may seem, little is known about the ... of bats, since their small, delicate skeletons do
not fossilize well.
1) contradiction 2) contribution 3) evacuation 4) evolution
98-The most common method of thieves nowadays is to steal the entire safe and move it to a location
where they have the time and tools to ... the safe and remove its contents.
1) cut down 2) take apart 3) run into 4) get over
99-Most indigenous peoples of the Americas ... from people who probably migrated from Siberia
across the Bering Strait 50,000 years ago.
1) descended 2) declined 3) ceased 4) exploited
100-Today, many stores guarantee that they will refund your money to you in full if you aren’t ...
satisfied with the product you have purchased.

1) proficiently 2) misleadingly 3) diversely 4) entirely
101-In most fairy tales and myths, there are animals who talk and doors which open and close of their
own....
1) avail 2) volition 3) outline 4) aspect
102-1t is easy to catch snakes early in the morning when they are still cold and ... .
1) lethargic 2) dynamic 3) hectic 4) humid
103-While a mechanic was repairing the truck, the group took ... in a nearby building next to the
stadium.
1) accident 2) shelter 3) place 4) vacation

104-John Muzzei was very bright, and when he finished primary in the new school, we ... him to go to
secondary school.
1) stared 2) reconciled 3) restored 4) sponsored
105-In the monthly gathering, teachers talked for long hours and they all agreed that there is a need to
raise ... in the teaching profession.
1) charity 2) measure 3) morale 4) temperature

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice
on your answer sheet.

106-
1) Many scientists are convincingly that human activity is threatening the future of many animals and
plants species.
2) Many scientists are convinced that human activity is threatening the future of many animal and plant
species.
3) Many of the scientists are convincingly that human activity is threatened the future of many animal and
plant species.
4) Many of the scientists are convinced that human activity is threatened the future of many animals and
plants species.
107-
1) The government is regarding foreign debt, especially in developing countries, as a major barrier to
global economic development.
2) The government is regardless foreign debt, especially in the developing countries, as a major barrier to
globally economic development.
3) Government is regardless foreign debt, especially in the developing countries, to a major barrier to
global economic development.
4) Government is regarding foreign debt, especially in developing countries, to a major barrier to globally
economic development.
108-
1) Certain masterpieces that are recognizing worldwide as outstanding achievements in human creativity
and ingenuity.
2) Certain masterpieces are recognized worldwide as outstanding achievements in human creativity and
ingenuity.
3) Certain of masterpieces that are recognized worldwide as outstanding achievements in creativity and
ingenuity human.
4) Certain of masterpieces are recognizing worldwide as outstanding achievements in creativity and
ingenuity human.
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109-

1) To believe that results are most important than theories or ideas, and I am considered myself to be a
pragmatic person.

2) Being a pragmatic person, I consider myself, and I am believed that results are more important than
theories or ideas.

3) Most important than theories or ideas are results, so I consider myself be a pragmatic person, and I
believe it.

4) I consider myself to be a pragmatic person, and believe that results are more important than theories or
ideas.

110-

1) As traditional people whom believe that children should not have too much freedom my parents are known.

2) Children should not have too much freedom my parents believe that and are traditional people though.

3) My parents are traditional people who believe that children should not have too much freedom.

4) Believing that children should not have too much freedom is my parents’ belief whom are traditional
people.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

111-

112-

113-

114-

115-

116-

117-

118-

119-

120-

A: Brandon, the thought that you stole my car never ...(111)... . You are my best friend and I can’t
think about you like this.

B: ...(112)...! Didn’t you claim in the court that I was the leader of a gang of thieves? You even
begged the judge to put me in prison as soon as possible.

A: 1 just said that ...(113)... . I gave you the benefit of the doubt all along. Take my word for it.

1) crossed my mind 2) rang a bell

3) hit the spot 4) gave the trouble

1) You should be so lucky 2) That’s a likely story
3) You can say that again 4) Now you are talking
1) at the crack of dawn 2) at the eleventh hour
3) in the heat of the moment 4) in the nick of time

A: Hey Mike, what’s up? Did you tell Ann and Sara to come with us to the party?
B: Oh, no. ...(114)... .

A: For crying out loud! I’d reminded it to you several times, hadn’t I?

B: ...(115)... . Now, I’ll go and get them by hook or by crook.

1) It slipped my mind 2) I was lost for words
3) It boggled my mind 4) My mind went blank
1) Let yourself go 2) Tighten your belt

3) Leave well alone 4) No worries

A: I just saw Jake. He was too ...(116)... about something to even notice me. What’s his problem?

B: He’s angry with me, but he’s ...(117)... . He accuses me of causing the computer problem but I
was away at the time.

A: What have you done to ...(118)...? He normally doesn’t ...(119)... people when he is not
completely sure.

B: I think he’s still ...(120)... me because I didn’t invite him to my party.

1) ruled out 2) worked up

3) kept out 4) made up

1) coming of age 2) on the back burner

3) barking up the wrong tree 4) covering all the bases
1) beat around the bush 2) get off his back

3) get on the wrong side of him 4) meet him halfway

1) bring it home to 2) put the blame on

3) have a knack for 4) pave the way for

1) sore at 2) entitled to

3) bent on 4) faced with
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Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the

correct choice on your answer sheet.
One of the benefits of travel is the opportunity to have new experiences and witness different
cultures. While the benefits to your general well-being from vacations have long ...(121)..., the same
can be said for experiencing new cultures. By immersing ...(122)... new cultures, you may encounter
culture shock, but you also have the chance to learn new ...(123)... and learn more about yourself.

Often the best way to really ...(124)... into a new place and culture is by spending some
considerable time there. ...(125)... a quick vacation may give you a glimpse into your destination,
experiences like student or work exchange programs ...(126)... you the time to quickly adapt to a
new culture. These kinds of opportunities provide you with a support network as you adjust to your
new surroundings and make it ...(127)... .

From its name, the idea of culture shock certainly comes across as something you want to
...(128)... . This then begs the question, what is culture shock and is it a bad thing? In general
...(129)..., culture shock is a response to your new surroundings when abroad that ...(130)... and
anxious. It generally includes frustration at ...(131)... even the simplest things can be different in the
new culture. Whereas it may include homesickness and a longing for your familiar life back home,
it’s usually more ...(132)... missing your friends and family. However, culture shock ...(133)... as an
opportunity. It’s only by learning to adjust to and accept your new surroundings and culture that
you can hope to understand and ...(134)... it. Persisting through culture shock can lead to untold
...(135)....

121- 1) been reporting 2) reported 3) been reported 4) reporting
122- 1) yourself'in 2) you in 3) you with 4) yourself with
123- 1) periods 2) skills 3) effects 4) results
124- 1) delve 2) hint 3) moan 4) vary
125- 1) Although 2) Despite 3) Instead 4) While
126- 1) allowed 2) to allow 3) allow 4) allowing
127- 1) a far less scary proposition 2) proposition a less far scary

3) a less scary far proposition 4) far scary a proposition less
128- 1) prepare 2) achieve 3) consume 4) avoid
129- 1) loads 2) aids 3) bills 4) terms
130- 1) it leaves you confusing 2) leaves you confused

3) leaving you confused 4) you leave confusing
131- 1) what 2) how 3) which 4) where
132- 1) into 2) from 3) than 4) as
133- 1) can see 2) which can see

3) which can be seen 4) can be seen
134- 1) recommend 2) demand 3) appreciate 4) produce
135- 1) rewards 2) symbols 3) notices 4) reasons

Part F: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by some questions. Answer the
guestions about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

PASSAGE 1.

Around 1870, a little fruit-eating insect arrived in San Jose, California, on some nursery stock
shipped from Asia. The pest, which became known as the San Jose scale, quickly spread through the
United States and Canada, Killing orchard trees as it went. Farmers found that the best way to
control the scale was to spray their orchards with a mixture of sulfur and lime. Within a few weeks
of spraying a tree, the insect vanished completely.

Around the turn of the century, farmers began to notice that the sulfur-lime mixture was not
working all that well. A handful of scales would survive a spraying and eventually rebound to their
former numbers. In Clarkston Valley in Washington State, orchard growers became convinced that
manufacturers were adulterating their pesticide. They built their own factory to guarantee a pure
poison, which they drenched over their trees, yet the scale kept spreading uncontrollably.

An entomologist named A. L. Melander inspected the trees and found scales living happily under
a thick crust of dried spray. Melander began to suspect that adulteration was not to blame. He
compared how effective the sprays were in different parts of Washington. In Yakima and Sunnyside,
he found that sulfur-lime could wipe out every last scale on a tree, while in Clarkston between 4 and
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13 percent survived. On the other hand, the Clarkston scales were annihilated by a different
pesticide made from fuel oil, just as the insects in other parts of Washington were. In other words,
the scales of Clarkston had a peculiar resistance to sulfur-lime.

Melander wondered why. He knew that if individuals eat small amounts of certain poisons, such
as arsenic, they can build up immunity. But San Jose scales bred so quickly that no single scale
experienced more than a single spray of sulfur-lime, giving them no chance to develop immunity.

136-Which of the sentences below best expresses the essential information in the underlined sentence in

paragraph 2?

1) In the years that followed, farmers began to notice that a sulfur and lime mixture that had previously
been proven to be ineffective against the San Jose scale was actually useful.

2) In the early 1900s, farmers realized that a sulfur and lime mixture that had previously been effective
against the San Jose scale had stopped working.

3) In the following years, farmers fully understood that the mechanism by which the sulfur-lime mixture
killed the San Jose scales was ineffective against other pests.

4) In the years following the successful use of a lime and sulfur mixture to control the spread of the San

Jose scales, farmer found a similar type of mixture that was even more effective against the scales.

137-According to paragraph 2, how did farmers in Clarkston Valley explain the lack of success they
were having with the use of the sulfur-lime mixture?
1) They thought the mixture was being weakened by the manufacturers.
2) They believed that the mixture was not being applied to the trees properly.
3) They suspected that surviving insects might have been a different variety of scale.
4) They assumed that the new scales were coming from nearby orchards.
138-In paragraph 3, why does the author compare the effects of sulfur-lime pesticide in Yakima and
Sunnyside with its effect in Clarkston?
1) To provide evidence that a new pesticide made from fuel oil was more effective than the sulfur-lime mixture
2) To explain how Melander found that scales had become resistant to the pesticide
3) To indicate how Melander discovered that scale insects were killing trees throughout Washington
4) To illustrate the success of farmers who chose to manufacture their own pesticide
139-From the context of paragraph 3, we can understand that the underlined word “annihilated” is
closest in meaning to ... .

1) unaffected 2) strengthened 3) weakened 4) eliminated
140-According to the passage, why did Melander reject the possibility that scales could have developed
immunity?

1) Immunity could not effectively be passed on to the enormous number of offspring produced by scales.
2) The development of immunity to a poison usually occurs from eating small doses of the poison, but
scales did not eat the sulfur-lime mixture.
3) The lifecycle of a scale is so short that no scale was exposed to more than one spraying of pesticide.
4) Only certain poisons lead to the development of immunity, and the poisons used in the pesticides were
not believed to be among these.
141-Which of the following questions will most likely be answered in the paragraph immediately
following the passage?
1) Why did the farmers decide to drench a pure poison over their trees to stop the San Jose scale?
2) How did the San Jose scale find its way to the United States in the beginning?
3) How did Melander account for the increasing number of scales that were resistant?
4) In what way did sulfur-lime and DDT have similar histories of use?
142-1t can be inferred from the passage that ... .
1) it is possible to develop an immunity to some poisons by eating very small portions of them
2) the sulfur-lime mixture used by the farmers in Clarkston Valley did not kill any of the San Jose scales
in that area
3) in Yakima and Sunnyside, farmers had been using sulfur-lime longer than anywhere else in the world
4) all poisons eventually lead to a disturbance of the nervous system in both pests and mammals
143-1t can be understood from the passage that an entomologist is a scientist who ... .
1) specializes in insects
2) focuses on mammals and reptiles
3) studies plants
4) analyzes chemicals to spot their differences
PASSAGE 2.
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There are many theories about the beginning of the theater in ancient Greece. The one most widely
accepted today is based on the assumption that drama evolved from ritual. The argument for this
view goes as follows: in the beginning, human beings viewed the natural forces of the world, even the
seasonal changes, as unpredictable, and they sought, through various means, to control these
unknown and feared powers. Those measures which appeared to bring the desired results were then
retained and repeated until they hardened into fixed rituals. Eventually stories arose which
explained or veiled the mysteries of the rites. As time passed, some rituals were abandoned, but the
stories, later called myths, persisted and provided material for art and drama.

Those who believe that drama evolved out of ritual also argue that those rites contained the seed of
theater because music, dance, masks, and costumes were almost always used. Furthermore, a
suitable site had to be provided for performances, and when the entire community did not
participate, a clear division was usually made between the “acting area” and the “auditorium”. In
addition, there were performers, and, since considerable importance was attached to avoiding
mistakes in the enactment of rites, religious leaders usually performed that task. Wearing masks and
costumes, they often impersonated other people, animals, or supernatural beings, and mimed the
desired effect—success in hunt or battle, the coming rain, the revival of the Sun—as an actor might.
Eventually such dramatic representations were separated from religious activities.

Another theory traces the theater’s origin from the human interest in storytelling. According to
this view, tales (about the hunt, war, or other feats) are gradually elaborated, at first through the use
of impersonation, action, and dialogue by a narrator and then through the assumption of each of the
roles by a different person. A closely related theory traces theater to those dances that are primarily
rhythmical and gymnastic or that are imitations of animal movements and sounds.

144-What does the passage mainly discuss?

1) The origin of the theater 2) The role of ritual in modern dance

3) The importance of storytelling 4) The variety of early religious activities
145-The pronoun “they” in paragraph 1 refers to ... .

1) seasonal changes 2) natural forces 3) theories 4) human beings
146-What aspect of drama does the author discuss in the first paragraph?

1) The reason why drama is often unpredictable

2) The seasons in which dramas were performed

3) The connection between myths and dramatic plots

4) The importance of costumes in early drama
147-Which of the following is NOT mentioned as a common element of theater and ritual?

1) dance 2) costumes 3) music 4) magic
148-The word “enactment” in paragraph 2 is closest in meaning to ... .

1) establishment 2) performance 3) authorization 4) season
149- According to the passage, what is the main difference between ritual and drama?

1) Ritual uses music whereas drama does not.

2) Ritual is shorter than drama.

3) Ritual requires fewer performers than drama.

4) Ritual has a religious purpose and drama does not.
150-The passage supports which of the following statements?

1) No one really knows how the theater began.

2) Myths are no longer represented dramatically.

3) Storytelling is an important part of dance.

4) Dramatic activities require the use of costumes.
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